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Chess is one of the oldest games still played by mankmd clatl_hg back to 6" century_m_dra In spite of daf minimmfoot{depth, board,isaximizing):
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the rrs!( of making it too power_ful for me to go up against. mi " value = max{bestMove. minimax{degth - 1. board. not isM
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oAl to look a certain number of turns ahead, for any
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value of white pieces - the total value of black " L Septh == 0):
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pieces. It analyzes a decision tree and assumes ..
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of th‘:‘ _szeL.a "ISt of legal moves, and some va:(l_res white will attempt to have the highest score after the®: B i
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poard position, leaving values. The 'standard ratio
of values of chess pieces is - that pawns are 1,
knights and bishops are 3, rooks are 5, queens are
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), and kings don’t normally h have a score because .’ pruning for x in possibleMoves:
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